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L T Chapter Il: The Notion of Register .

e skt a2 s

Introduction
2.0. Introduction from the other diff
ated from the other different
Language events cannot be separ aspects of
human behavior, __ ————" — ]
“ mC'dﬂ.fiI -._,,,.~'-~~t--1-v-‘”‘f"‘**‘,‘f'?"_f':_f:"?—:ztﬁ?'r fe ey N T P :
RS ot i g pgan LN Bl

il gl (g 31 datied Sallatl (e Lgla® S A & gdlll &aalgalt oy
‘ anguage i3 included. Do you think that \E‘chr
y aspects of our lives? Do you think we can dq
9 Do you think we can communicate with each

Whatever we do, !
separate language from an
anything without language
other without using language? No, of course.

Then we agree that language has to do with events of our lives. This is

why we say that it cannot be separated from other different aspects of

human behavior. Whatever we do language is included.
Kok %

Within one language, language users use different sub-languages in
different situations and similar sub-languages in similar situations.

It means: B
t-s‘j‘q’f' Lg_)_;.'u G gsli/aue ) olil (ab.-xlwb EPL 1] PRV VI E S ‘3_9.3,3 FICN PR 4 Rt K

What do we mean by (sub-languages)?

It means speaking the language in different ways.,

We all speak Arabic and we all speak English, but we all have our own
ways of speaking these languages. Sometimes a person repeats a certain
word more than once during his speech, while another person like his
I;rother or h_is sister wouldn’t use the same word.,
by c\}njiﬂ‘ e LS (5, )G palidl dllia g K2l ki Slasial 3 4k Lia )
sub-) Sb cijm b Bay 44 Ll odgy Sl o e 5 S Y sy agias S

(languages
* %
[ Every Instance of 'ang_l:!gge Is unique. /’J
[tmeans:
! ]
——-——f—-g—“"—l;:%h A2 gl e ‘v‘-.'ﬂ 65*-] JtV“ JS ka3 ,I
[t 15 unique bLedtbb every person uses his own sub-language. Therc &
of Trausiztion 2.2 gt e R T T '--"—“‘""”.""“':1/
| sypi 2022/1
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hy every instance is unique.

no two persons who speak the same. This t1s W
* % ¥ v

Dialects and diatype are two main kinds of language vaatio TS A‘

What do we mean by (dialects)?

Student: <lagl ‘

Instructor: ok, but how is (dialect) different from (diatype)?

Do you know what is (diatype)?

We all use dialects and diatype. What's the difference betwcep them? |

Now, if in this instance I'm talking to you. I'm using my dialect. Tt is
my own way of talking. I'm using my own vocabularies. 'm picking my
favourite words. This is my own dialect.

If I'm giving you a political text that you have to (ranslate, the text is
written in political manner, then it is written for a certain purpose. We
have a goal throughout the text, then dialects are user-related and
diatypes are use-related. [t means (diatypes) are the purpose of the
language, of the speech, of the textete,

Dialects are user-related variations
Diatypes are use-related variations

We have user-related variations. Dialects are user-related variations
because they have to do with the speaker. They ate NOT related to the
purpose of the speaker of the speech. They are related to the speaker
himself/herself. ‘

Ay :‘\..la_u_)AS (d]a[ype) A Laiy coluYl 1 dagd @ (dlalect) J}’-’ Ol Sy &.,s-‘"-’
(purpose of communication)

‘Dialect’ has to do with the person who is talking and ‘diatype’ has
to do with purpose of the speech.

We will start with dialects or user-related variations.

Dialects or User-related Variation contain many factors:

User-related Variation: ‘

1. idiolectal Variation: job=il sue Jd (o Gl Guid alaziul & B
2. Geographical Variation £, S A

3. Temporal Variation . s

4. Social \Iariation?al,cqt Cadas | | P
n-standard variationielall LUy maalt LUV Oy SN

JUE—————— et g

5. Standard & no

All of these types are (ypes

one. e
et us start with“idiolotwal variation’:

s e et oy e S

S AYDI 2022/ T1

———

Science of 'l'rans!ation 2.2
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1 1d tal \/ér:atlon
dividuality of a text user... It has ¢, do

s n he ln .
Idlolect is . il
‘idiosyncratic’ wa_yg,OLE—ﬂDﬂ. language. - SRR
’“"'ﬂ"' ms—'m - o T =]
| means: — S— L

Lu_a a] ‘zU—wy FWNEN] d)LJL‘ LB‘L':‘; U'“ﬂ u‘*‘“ f‘~’-’=uul o_))n_,_“ L ‘
“The individuality of langua;,c user is reflected in his ]dnguam

The individuality of the text user jg ret1cc1ed
ay of speaking and of g Sing the

what we were talking about.
on his own text. This is his idiosyncratic w

languagc.

gho.\.%twécuaﬂluﬁwu‘ixm‘ﬁﬂulaMI(,);"',H4"I .Au&u

B
é T - . \-—N‘E
These idiosyncratic ways can be seen in the use of favorite eXpressions,

favorite grammatical structures, favorite syntactic structures, different
pronunciations of some words, over-use of particular vocabulary items,
different pitch and stress pattern, etc. So, the individuality of the language

user is reflected in his/her language N

(Pitch) is the voice that you are using whether it is laud or low.
- Pitch; @ pall s

It means:
vlaia huelyd jue alisul idlnis Hula plasinl P e Golall sia a3y oS
byde plasdad s olols) Zilies dadl 33 )b aliiwl Alids Lo fen plasial
sl adl Oa 1A L Calides Lali/ 0 daedy Rabii Cgeo A5b alidiul e ol

4 IS e Sat il oia
ldiolectal variatic Wit 1
diolectal variation has to do with (he person. [t has to do with his
choices during, speaking whether he picks some words, whether he uses
some  grammatical structures, whether e uses favourite words or
cxpressions, and the tone which he s peaks.
— * &k
2.1.2. Geographical Vanatlon T R
The place in which a person |

s_,{bg;p_eaks and writes.
— e
It means: '7

e —————
—
—— i
- ey ———

earns and uses language is reflected in what
T —— e

S

-ld:'*—*-&agum |
= gﬂufuuu&.uumumw@m&muﬁ‘/,

e ————

b(,l(_'ll 2 f l ‘ - a ‘ B e P 2 R
ceo Mnshtluu Z z q AYD! 2022/ ”
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Some puapie are not from the same city. Each person reflect; ihe 1yo-
of accent that his city uses, so the gcographical variation has to do with

where the person grew up, it has to do with the way that he taught to spcak
* ok k

Accent is considered one of the recognizable features of the
geographical variation.
It means:

2 yaedl p gl daledl s Aalglt jallall (pa Aogll) s
A Ui Al Sl (e dingd pasalll Sy
This is why we said that accent is the most dominant feature of the
geographical variation because it reflects the place where the person grew
up. |

* o

2.1.3. Temporal Variation
Temporal variation reflects language change along the dimension of

time.
It means: .
ey CablIa Y YLY

L)"}‘" e astl! ):Li:! ‘:,.Ln_')_” cj)\l;)” ‘,.Sz_s

Go on:

Each generation has its own set of linguistic features or its own linguistic
fashions.

It means:

Aola i) blol/ewlul 5l B gl jatlazdl (s Lolidl dic gazea &) Jua S

Temporal varialion has to do with the meaning of (he word and the
words that used to be common, but they are not common anymore; this is
why we said temporal variation reflects language change along the

dimension of time.

AR PSY PR JPREER RS A A padl Gl 8 K e K s JEY s e

As we said each generation has its own linguistic fashion and this is
why we said (linguistic fashion) because it would be the trendy words
using at that time, bul it may throughout the time become out of fashion, It
means these words wouldn't be used anymore,

Student: like the language that was used by Shakespeare.

Instructor: it’s true. But this language was normal then, it was

understandable, and it was clear, but to us it scems strange.
ok A )

5 AYDI 2022/ 71

Science of Traasiaiion 2.2

Scanned with CamScanner

ks



e ——

# iati ]
2.1.4. Social Variation intion. In the 19505, & distsos
f guage reflects social differentiation. In the 132U 5, a distinctigy Wag
an

de between the upper class English (U English) and the DOD-Upper cfyg,
ma |-eh e(non-U English). In the eightzenth and nineteenth _centurjes ,
cEilt1 ti:c;ion was made between polite English and vislgar English. ‘
st 2

It means:

Hoelela¥l Gdisyy v,
W oo el @ ol oyl aliues 2y oelai¥ bl n g
{non-U English) L .2 aadalt 450091 23015 (U English) L) azly 5yl
% i) il Bdeht 25l ALY Ot el (@ e il e el oy s

.M!/&:eip!/a.;sﬂy

Even nowadays upper classes use terms and vocabs dilfer from what the
other classes use.
* ok ok

—_—

2.1.5. Standard & Non-standard Variation

The term [standard dialect] is uses to indicate what has been called 'the
universal form’ of a language ...: that set of semantic, grammatical, lexical
and phonological patterns which enables certain users of English (for
example) throughout the English-speaking world to communicate

intelligibly with each other."
Il means:

Falall Ballly ovaall Walll ¢y CaMEAN YN0
AL S s L il LM [aeabah asgqlil] Fllaall aasiy
B adiins Gan (Sa3 GUl Adgall ezmally B gaidly Y01 LLGY! e de gant]
P o paly S Jualsll (e By 5yl Bt SLLI WLl bl ea 2 35l

LTI [

. - o

- Lexical: japaal) _iadl) T

- Standard language: sl Al 45

- Non-standard language: colloquial language (sl Zadlt),

For example, English is the most used language across the world, so
they agreed that they need to have 3 standard vérsion of English language,
so that all people can understand it ang a1 people can speak it.

All the c!ements Fexplained refae to the user himself It means that it
has to do w.nth the society, it hag to do with the place where he grew up, it
has to do‘ \{mh his family, it has (o do with his own choices etc.

We wili stop here for today and we wil| continue this chapter next time-

Scier. - Ty T T r i
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e e e ok ok o ok ok e
~Now, we will move (o the text.

Existing vaccines should still protect people who contract the Omicron
variant from severe Covid cases, a World Health Organization (WHO)
official says.

It comes as the first lab tests of the new variant in South Africa suggest
it can partially evade the Pfizer jab. Researchers say there was a "very large
drop” in how well the vaccine's antibodies neutralised the new strain. '

But the WHO's Dr Mike Ryan said there was no sigh Omicron would be
better at evading vaccines than other variants. "We have highly effective
vaccines that have proved effective against all the variants so far, in terms
of severe disease and hospitalisation, and there’s no reason to expect that it
wouldn't be so for Omicron”, Dr Ryan, the WHO's emergencies director,
told AFP news agency.

He said initial data suggested Omicron did not make people sicker than
the Delta and other strains. "If anything, the direction is towards less
severity,” he said.

The new South African study - which has not yet been peer-reviewed -
found the Pfizer/BioNTech vaccine may result in up to 40 times fewer
neutralising antibodies against Omicron than against the original Covid
strain.

But Omicron's ability to escape vaccine antibodies is "incomplete”, said
Prof Alex Sigal, a virologist at the Africa Health Research Institute, who led
the research. He said the results, based on blood tests from 12 people, were
"better than | expected of Omicron”.
Prof Sigal said vaccination, combined with previous infection, could still
neutralise against the variant. That suggests boosters may bring a
significant benefit.
Scientists believe previous infection, followed by vaccination or a
booster, is likely to increase the neutralisation level and will probably

protect people against severe disease.
More data on how well the Pfizer jab works against Omicron is expected
to be released in the coming days. There is no significant data yet on how
the Moderna, Johnson & Johnson and other jabs hold up against the new
variant.
Omicron is the most heavily mutated version of coronavirus found so
far. It was first identified in South Africa, where there is now a surge in the

number of people catching Covid multiple times.
| ¥k

Let us start:

Science of Translation 2.2 7 AYDI 2022/ T1 :
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e e e

nesEBZI.TJ}?m protect people who contract the om;r;\,
s, a World Health Organizatigp (WHO')‘

Existing vacci ' !
variant from severe Covid cas

official says. =
Who would like to try?

Student: ) » ) L
ol il and of Al sl rs ;,4;4'4_._1 A_udL-Ji 43443'| ulm A U U

fusiructor JOSICENS T RUIRE N
Student: ‘ . . '
Ay s Gl 5 gl il LSaly 4 Bpallall sl Babiie 8 g guna
Bl € el e 05080l B adia 2 e O skl o)
Instructor: what did you translate (contract)?
Student: s sl bl
Instructor: we say (Usb=).

Student:
Z)Jls' d')) Y l:\.lL; BJ)_;)..JI la el ui ‘L\Ale.“ As.all 4dhia sz d_,_',m JAaa Tr=

el gl 5528 G (s oSaasl ) satar O stbeas oAl Gl lea e
Instructor: it’s not (Jss=e ja=e). Is just (Jss=<), In general, we can
say what you said.

Student: :

Buadll 2858 Y e sl 5 Saa gl sy
Instructor: no, it’s not.
The existing vaccine can still protect people from severe disease.
By SV a5 oAl g satall uds

You make it sound as if the focus here is Omicron itself and you make it
sound as if’ Omicron became a variant that came out of the harsh
conditions of Covid, but i’s not like this. Here the official is trying to say
that the existing vaccines can still protect people from severe conditions
that can follow contracting (he virus.

- Lxisting: 5 i yie

- Vaccines: wtd

- Contract; wliay

- Variant: ) sie

- Severe: sl

- Cases: Yl '

- World Health Organization (WHO): Lalldi Al it

- Official: J 5w

e

e

R S TP YL
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~ We can say,
S i Bl 3 Gl 3ya gl @la Gl o) Adll dmall Zabile & Jages I
8 0S5 3oyl Lo b piads OaSunsl Hymias Ogsbiar (o AT

- o

Go on: ' |

It comes as the first lab tests of the new variant in South Africa suggest
it can partially evade the Pfizer jab. Researchers say there was a "very large
drop” in how well the vaccine's antibodies neutralised the new strain.

Whe would like to try?

Student: :
i s L st (b (o1 Rl ool 4 pt 3l 251 B A
Tl 535 S 8 M S llin o (sinly sy 0 U Wi e o

FRTACN A Aually C\aﬂ saliaall

Instructor: what did you translate (very large drop)?

Student: D> S

Tnstructor: it's not (LS ,s33). 1t mean (xS &),

el e S o in (38) Ly e s IS a3V O 35 (221 F)

Instructor: what did you translate (neutralised)?

Student: wn>

Instructor: (being neutral) means being (ul>s), but here what can we
translate (neutralised)?

Student: L= .

Student: L dla/d sxia Jb

Student: 4~ s\
Instructor: here (neutralised) means (e glin),
it doesn’t make it ) sl Y (Gmem das/Jynie JUnf) Jsti o WSy ¥
Jagi) ol pad L (focus) A (g3 o) ) sy (neutral) zuar s «(weaker
st*“(-\-buwe“—‘b-’&l:«o “'ur‘“C-‘“" a3l gn Uia wall o(4d yoie
Who would also like to try?

Student:
B A anall saial e el By Rul ) eyt o dey e el 138 g
daall las gae 3 MDaS Ll " Lghay sl Osinbll Jy il A glie te L
Basasdl ANl Aaslaa & AUl Leaty il palianll

Student:
saall el LY A il o gnill a3 )5l W i mpadll s els
Cam Uy shy s ) gl Sl pol8 il 2 (5 L Al gl 2 g sl el
i lie o Gl Gl s lua¥l 855 (B Mhn i€ gl A o osialdl Ol
Baaall AL

9 AYDI 2022/ T1
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[nstruclor: (13 Laz 5i o (;‘-—’J‘—.’-“/E’U;Jl)

.53}1(19.’.1!: Lm_)eiu_,uusd..a;mutw

Instructor:

(G s ) ol () Bt dsi o e By
(&) oy et (alil) J58 of Bde el dn 3300

First; 4l
Lab: 4slexs
Tests: il L)
- Partially: 0>
- Jab: W
- Researchers: ol
- Drop: &8
- Antibodies: 33biax ehn-:J
- Neutralized: 4255«
- Strain: 4
We can say,
Las! g 2 gl pseiell Blas Aess GhLE 4 2plil =2y 2 b3 s

desy e l}fa,x,.-g_‘: BE) u}l:.b 0153 Q;:J»U ‘Alﬁl ‘.1_13)':.- R_J.HA'B 4 ools _)_)315 CLZJ UI UJ!

Bl AL Raglin 2 ol Salall alua ¥l 2l sue 2 " S aal

k& &

Continuc please: )

But the WHO's Dr Mike Ryan said there was no sign Omicron would be
better at evading vaccines than other variants. “We have highly effective
vaccines that have proved effective against all the variants so far, in terms
of severe disease and hospitalisation, and there’s no reason to expect that it
wouldn't be so for Omicron”, Dr Ryan, the WHO's emergencies director,

told AFP news agency. ]

Who would like to try?
Student:
s (g pra g ey Al Al Al g f gl ol e 1) )5S ol Yl
r G s (g el b ysaate of Lle cete/All an g Y Al e ol ASS
(o8 s il ladll 53,00 AL Ll ol iy SSGI e i B 5 53Y) ol samalal
A e Jgmall 5l palie Yl 8ad Sun e slgu 0 Lia 5 gaaiall YO e
O S 8y s i gk o Ly i) ppn 20 Yy LN st
Instructor: thank you very much, but why are you saying (30 5243)7
You can say (Us>3s).

N ) ——— - ________,___..—-—'—'_"'-'_-_'
Science of Translation 2.2 10 AYDI 2022/ T1
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who else would like to try?
Studpqt: ' )
eullad il il Ale SR Ul e 2 dall e sl s 2 Sl ) S
s 35 Vg LY il Gl Com e OY1 s gatallfcd udall apen s
o ghall i Ol DSl Al e 1 OsSe Y Apuillis GBS 51 58 of e @85 o
A il L1 S ) Apadlall Gl dalaia b
[nstructor: it’s not (<8a3). It is (Aeslia). '
Student: ‘
€l o 3y u g il 5 ug il o sl Gl O (i 13
Instructor: exactly.
(Evade) means (<33), but here it means (Legda), It doesn’t mean
literally (<3).
(el gy (2l g 2l I O oo
Why did you say (s153.1)? (Hospitalisation) here doesn’t mean (s\adiul),
it means (having to go to the hospital) i.e. (Cladisdl b g ).
Student:
ISP Al 3 Gt 2 Gad il pu o dezaiall e o Al A1
Instructor:

wSilay Lt Al A3y bl coadl b Alaiill oag) dlaes RS e 900 ¢+ adiay I

Sen 5 (o Al s3] e R Lo 2 Ha1 0l g 105 g S

- But: of

- Sign: ;A3

- Evading: 455«

- Highly effective: &lle aasy pull

- So far: ¥ >

- Hospitalisation: hiiuali 2 & il
- Reason;

- Expect: o25

- Emergencies director: sl sl jae

- AFP news agency: ¢\ on osil Al
I’ll read you my translation:

—_—

S —————

O le aodle umgs ¥ @) JB Al Amall delais (e Qu) elila )3:.5_&1 Sl s
e Sl Calinly o8l il gailly Alie Sl Aaglie 2 Joasl O3S 03)Se0s!
dle adlas, o @lslal Luad” $L3U pape Ll AUlSy) Alall Aziall dalaiey (gl skl
2 ol il sagadl) Bl e O O i lygmill paer as 3ol cadl
" orppSansd Anidly IS §3€e O > Ol @58 M B e dm Y ailiabanll

p—

FAF

Science of Transtation 2.2 11 AYDE2022/T1
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Go on: . - _

He said initial data suggested Omlcro.n did not r.nak? Pe?ple sicker than
the Delta and other strains. "If anything, the direction is towards less
severity,” hesaid.

Who would like to try?

a&%%]ﬁ.l& st ynia of 8 A clasledl o b 250 il LS
b e 1 A 8 g g S L f B 8 ot L A B o 28l da
= n'g))J,sjl ds UA J'.‘mﬁ“ goe AJ.La'Yi Ja

Instruetor: the last part is not well written. ' N

Why did you say (u=l )2 Here we have (if anything) not (u=le ¥ as
you said. What does the expression (if anything) means?

Studen(: Lol ds (B

Student; <lieloadll

Student: ual eV

Student: if anything new.

Instructor: no, it's not.

The expression (if anything) means (if s0). It means:

(50 and $0) e U ad st e sa¥l iy )
(ual e ¥ e oad (focus) I

He is reading the data that he has now. He is saying according the data
that he has (J815 skl ga e slad¥) o e 5 gd e od o5 @by o).
Student:

T(impalt bl g (ga Cagidill ooy i ) eV (Of) g3 Of WSy 4l iy 28 (s
Instructor:

Not (=4l Ll s). He is speaking generally.
e Lganjtine gad ey il 2858 Ce Caanlly a Lail g (Ol all) B S8 cuad 5 il
;,le_’\ll Ja
" gl SV g g oLV Ol Gl S5 o8 e e peall s o

suasdl (strain) N oo 5 48l (s ja padd e puly Udle Gty
Who would [ike to try?

Student: -

O il o U g ST Gl drng o S0t o ) e S0 A 53V ol o Jd
I olaily o yad sl o e Ju 4l e e elld b o Wil JB5 e 580 <Y

B ghd
Instructor: e
- Initial data; 44 iy
- Direction; sl

Science of Translation 2.2 12 AYDI 2022/ T1
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WgEi‘l.sﬁ&

) , )kae Lol i (ya 1] oud O3Seasl of LI w3 AW wliLdl o) Iy
RS oLV ol Ll Ji e sl e gt cds ol fo.‘;u W) a0 yue gy s

"3y 5kl 3V

e

L *ook ok

Continue please:

F/_h:new South African study - which has not yet been peer-reviewed -
found the Pfizer/BioNTech vaccine may result in up to 40 times fewer
neutralising antibodies against Omicron than against the original Covid

Who would like to try?

Student:

Bl ok — bl Al pal am aaas Gl - Lo il a8 Baaa dul )y Gasy

yS\uMd‘AJMUJ_)S_\AJiMo_U\AJ\aJL.a.n]leLu;\ﬂd.xlou\ujy_\SgLu}u/J_p
-’uLaY‘.\.B)Sd).mﬁé.:JJAUAfo‘OA

Instructor:
(8 sl iy ) aily (Lo ) k) Qo
Student:
U‘)’!Julyu‘fyelqﬂbm).iuy;uﬁuhjuj\amﬁim‘)_\l\unJ&Sl.AJ .
e Aol Laa Bge ol 8 (5 5Se gl e il Bobian Uliaal il ol g/ ) 508 G ols
a8 S pe Blal) AL A i) sabaall Bl
Instructor: thank you.
Student:
f(peer-reviewed) siae
Instructor: .
¢ oaill i (expression) A1 1 (e e 083 (O A1) (53 (peers)
Student: Ly o1 o)

Studunt A yall auads ol
Student: <Gl ELS b Lol o5 (J

Instructor:
(ul_«.ulll) Oe (.)‘“"J (mb.ﬂl) O Caanth Ua gad
asSa of uﬁm lie (articles) b 4exdiud Lexie (expression) = (peer-reviewed)
su_»uh
Student: il s
Instructor: yes, (¢ :5).
Erage sby oSl Jia Ope §pinge 0= (arlicle) apasl (S Lavie a5 Sills
¢ sasall o e o giSa (articles) Lol am g (everyone is interested in it)
el (Ledde 1580 o1y 5 (articles) ) Ay g i &5 6 4l s (peer-reviewed) s

—— S TSNS
—————— —_—— ————

Stience of Translation 2. z 13 AYD[ 20‘&2/ Tl
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(A p%a5 0y

Student: R TH .
§(patiil) siams (P55 oY)
Instructor: yes, (%), but we can say (V5 ) or (Wnl pa pn ).
Studeni: _ .
U ) & b Al e pdiall 5% ele paiil
Instructor: S e . es s
of very high interest around the ) et e Gasii Lis WY el (i U
(world
Student:
UB;S O B e (2

Instructor: o
Be G b 8 (
We can say,
ckl Ol Gl daslyall W aiads o Lasl e 2 saus dwlyy cualsg
3pn b0 Il ey Ly OgpSensl s saliall alua W1 oo Jal fose gy B wliipnl)50l8
oYl s oS Ly alaa

antibodies) - Lealis) Lail 55 e Gl Ji o b

* % %

Go on: —
But Omicron's ability to escape vaccine antibodies is “incomplete”, said
Prof Alex Sigal, a virclogist at the Africa Health Research Institute, who led

the research.
Who would like to try?
Student:
dubee 38 o1 Uiy il Aol il agma (8 by il e Qg Gl ) gy 5l 3,
nilai€a e clalill foliaall slua'Wl ealds e )y Kuasgl 5508 o) Caal
Instructor:
(il Jss of Lide ol g LS 44 of Wide (Africa Health Research) J duslly
(Ut ) Sl

What did you translate (escapc)'?
Student: g\
Instructor: no, it's not.
Student: < s»
Instrucfor:
Plia AalSll e3n (laa 058 o im jidll La S0 (35 ) (03 (escape) AalS
You have to keep the vocabularies according to the context of the text
you are dealing with.

e
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R 0 S N

£, i 13 ‘1; ;‘L_.‘.A 3 4 i 3 E *

LI o L UE i e (Restie) Lalis s (gl (S54) 23 (escape) ik

| o et Bl S i F T ey S (v
i g el (antibodies) —!-J*‘j}-‘-“ (virus) 3 o s 2n o gs a2 L,‘».,:J 2
{=sr)dsglusey, (Beslie) il (escape) kS 13
gmdcllti

22— SALEC, 12 3l za -

(4.1.6_..: g Chﬂ sl ?L“‘;\-" AL.AJLE_., ul) J)L L'Ji Lle Ja

",-,L:K P lg. .y - . A - - 1
4 BT LaJJ.s.:.L;al’l*‘aL.%.\.“ ﬁjuﬂulcc,j)s._...ji EPNERRY

Who else?
wl‘)jéﬂl'_,”\.';.igé;‘;?_‘. -uL_afn Lsad e b Sy il e G yud ) - ea
."A.L.\.S 2> C saladll (""“":"Y' "\-‘-_’L‘ﬂ UA L')J)S:u)\ )):L:\A 3_).35 ui :t...\).‘.l!/ia.;ﬂl laa
ilial LS
Instructor:
Ayl Al 8 (L) e Sl o PY IR ) DA PN o (R}La‘j\) aa gy b
tole A ¢ gp LS aeadh a3 () Ll (252=) Laliaa (institute) el Al
S ) Sl 18 ) O o
a4 u_l; u_).ﬂ u"_\l‘ B ayy Jﬂ.l) c(‘_"\.'lj.':) J‘ (;‘.\3) e ‘1'..‘.3 (u.l).;\) d,.;..x U‘ 55 c;a&_“

Al )

Student:
Al o)y WS adl e Soy (Rl S sy 58 Y msaal) e s
4, lkayl

Instructor:
(=) Al B sy R G AR B LS a3 o Wi
Student;:

a3 g pdh s LS MALIS pat sobiaall dlaa ) A glia Jle (5 0Sae ph 5508 (U Gl e
Ayl e (il g3 g da ol Gyl Wi 8 agas 8 Sl il alle Jug Gl
Instructor:
Y A 8 (Juas pall g L) sy oSk ) Ui rocal JSN g aadl s i
82 o I (g jall ARLG ey sl qranan il 3y o iy dae ol aay il
© T il ) i L A g b g il o e ] ) T
oAl e
- Dscape: i
- Incomplete: oS 2
- Virologist: by i e
- Led: e Gl
- Institute: 22s
We can say,

St T ————— e 2022/ 8
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e e o et

- " A R . 3 A ”ﬁ\

Sl oyil Ay iy o IS )81 ages & byl @le Jlaw (841 13 o, )
. . . ‘ |

"aLalS " lalal sobiall plue Wt aglas e Oaxeasl 5 of 2y

*k ok ~

The next sentence.
He said the results, based on blood tests from 12 people, were "better

than | expected of Omicron”. Prof Sigal said vaccination, combined wit,
uld still neutralise against the variant. That suggests

previous infection, co
boosters may bring a significant benefit. e
Who would like to try?
Student: .

Qilad g ope Jutasl COlS" (ad G VY e 53 sala 4 g3 Clise Aud yo bl bl LS
L) amdadll ol e Jogu gl xasly Mos Sl e 85 g pad,
K0 B g3 1 geifle s S o a1y gaiall el e S OF el Gasa el
Ayl

———

Instructor:
GG QS Aed ca glacall oy &yl Laely Byl Jumdl e il g 5 Lodie
(G Goin ) Bplan sy paisd Of Leale OS5 (L3 isin (o S22l el oSk
g Sea s Apnilly B giall ¢y bl : s of (S Aol IS
(that suggests boosters. ....) & S s (Sl 3 jliaey dagaa oYl Al
FINETRIEA
What do we mean by (boosters)?
Student: <) xe
Student: 3 )z Sle s>
Instructor: yes.
(sl e jally ol (552l Cle yally
il g Aoy (e (S Gl sy Gdie px Ga O clald dlia of a8l
Gl e i B de o JS4 (e 3351 N (booster shot) 0 o Jis sl o pela Goan
_ il chm Bjﬁgfbhic?u_;“_gj
) aad Gl e a 380 Jo 58yl Letie g pusndl 3 (antibodies) 3 e ¢
28 &5 Aladl) Aumpe el Jeag Laa Bas el saiad ) s JUs Wyl (antibodies)
(booster shot) A1 s sl O Ol
e ja) oo Qfon pa Laily sl e S Colaah jall 3y 5a 5 4S8 Clangd s 5 Sl
(300
Who else?

Student:
(ol 3 s lie i of ey il (g ol il ) porddl ) JB Qg gusd 5
55k il g 5aas Of oSas das ) e jadl of ) w1

Instrucfor: yes.

e e

- l n T e 2T
ation 2.2 16 T
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Results: g 24
Based on: Y chaiiul
Blood tests: pdll (a sad
_ Vaccination: i
Infection: & 3=
Boosters: 3 Jaa e
Significant; 3 S
. Benefit: 3u4
We can say,

1 : oo s T
ool Laxd pae L cdis YT C- R R TR Sl it o )
e bl Gl ila I eakadtl ¢ Jliew 13, 030505Y Ly gl a Jins]

B 30 355 3 8jull wle sl o s ety )5l s Raslald Lulud gl ol
. . - o T . = --_.ﬁﬁh' i ~4
e 2 Ot (il o) S Wil S5 o S i S sl
Aoy L“L“T ‘;’%“m e Wl i Lasic (antibodies) 5 430l (g 522
This 1s why [ said it.

ok o

Go on:

Scientists believe previous infection, followed by vaccination or a|.
booster, is likely to increase the neutralisation level and will probably <
protect people against severe disease.

Who would like to try?

Student:

Gsba 235 O g ¥ a8 jme Ao a5l kil Lggli ALl (g ol (o el diiay,
A G sall e Gallen Lay 5 il

fnstructor: thank you.
(2ad) pad 5 (e glie) S Jil8 8 U LS (peutralisation) oS
G (32 Gl pa) Gal g (3 ) Lean 5 of Lile (sever disease) - Al
NS A 50l Ll g G 5 seoialld al€ Gaill JIA 4313 any G jall e dasali
Student:
(L Glal) Oa Yar (U4 it o Lasdl e s
Instructor:
%jm\ Dl (o gand Sl G 5,88 e 580 LYy (L209) Jy‘“ v '
. () (o pall () (sl (3 b ope) i of e f;s‘*:“mllj;""
U8 il 13 iy ) I3 A b ) T ol ot
(ol G ) o (a2 ) s 3 B 18105
Whe efse?

S‘_‘Ldt;lﬂ: e

- \\*‘— e o e . e e R po 0
Scin ) T A - g AYDl 2021/ l 1
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O 255 O ool gn 85 5mall Ao a5l panll ey () Zaball o gonlt of el i
_3&33.-.::.“ ML@?! Ao L}.uLl.“ (e LA.]_)_, MJ‘&A“ e 9",,,N

Instructor: thank you but no nced {o say ().

R {=~5) 5ol J5w o 18y

Student: ) .

f(Lar) I (probably) s 5 O cs s mall (e ol 451 iay 138 s
Instructor:

Ll O (gasall (e) UB dualil (3 0nd )y 50 it § smgm Gl B guin el
(L) Wl s (855 g paim s pusd ) iany e 458 lana piilanl] (likely)
Student:

On 235 B 5ma Ao o gl pandad Leniiy Bl o ganll O sl e Sl elalall it

o.‘u.\.xfu.” «"\_‘me %) U»Ll“ UA_\J_, :\A_g\.zah (S slaa
Instructor: thank you.
- Likely: z= el e
- Increase: v
- Neutralization: s stis
- Disease: 4Lla
We can say,
235 Ol gl o 8550s Baye 5f kel Loty L3 330l (guall o 5 Lalal ey s
‘5 Bl 2LVl ¢ye (el ety Raglall (¢ gian oy
5k ¥

More data on how well the Pfizer jab works against Omicron is expected
to be released in the coming days. There is no significant data yet on how
the Moderna, Johnson & Johnson and other jabs hold up against the new

variant.
Student:
A 05 Seasl ssata go s 8 Bllad Gliy UL e 3l s siall (e
g 3l 0 pusi g U)a g oalid Blad ol U L g iy 3955 Y 5 Al oLl
Anadl ) atall aca gAY lalilll e e
Instructor: thank you. What can we translate the word (jab)?
Student:
Instructor: it’s true. (Jab) means ().
Student:
dalio )5S 0580 5Y o sliall )38 Al Jae 535a 220 s> ubLﬂJ‘ O 205l Hia 3
Ggase (@il )5m 4 gm0V i foga iy 2255 Y oS0 liall d1 (ool
Al ) gaiall e G e by e 5 gu s 3 0 gaad 935

Instructor: ' | ) o
e 35 gad diiall 3 oS (0 smign 2l Qi sa s Ujage (AW ) sau0) S WSila

AYDI 2022/ T1
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Lea g
gudent: TR Os sl Y Ll
BT A o3 e RS Jm Sl s
: a ) 134 s> S il TR .
y I PH el el) o ed il ey
U?IGAWQULHA;}A

U PE il ¢ gusi 2 5 G 5a plaaind 448 ()0

s ‘{or:
L&;!!_}l-%-‘r"‘.- s & k ! - ' : 33
) 5 :{m () 0= 0225 081 (038 U 5250) e aaai ¥
.d‘,hma——‘l;‘-“.)%tf L~=5‘(J*“= 235 52 dsa) ol (Uee S Upa) ol u:;w
ol up) (hold 1p) U S Tasll 3 (e lasiny 03 o e
Student; B
(2ea) 52 (hold up) i
= u
Instructor: yes but here we have context. R e
ol am etlad (s W | Gl i o il i
Student:
o 8 caslas 02 quu AR oo AL B b L o) gl (g
R o sl i 5 ol SR /FSTE PP ST 2% PR EOUSSNECE VRIS
amall el ds g o ageall 8o AW Gy ¢ e g 20 G gusi 52 5 L350

Instructor:
sy Iy Upes el o(lE Adid) o LSl indl) sy o8 (250m) i O e
(il
- Data; «bly

- Release: Jy=
We can say, , _
B gsSansl semia pa sils 150 Bdbs Ly SBL Ga sl Sl @Bl (e
oy Opuizm 1 o pmizr L2 dLid ol ) i Bage Slily s Yy Al ol
sl yemill ss K P B:AT | IV VW9

—
Ak

Go to the last sentence:

Omicron is the most heavily mutate
;1' It was first identified in South Africa,
‘J‘ltlelﬁf people catching Covid m ultiple times.

Student; T
i bt iy U s ny U S Al A s
g iae 385G O sl (il alasl 238 8 B3 OV 2 g s A

Instrue . on
Wlructor: what did you translate (version)?

d version of coronavirus found so
where there is now a surge in the

2 OJ)SA"‘.J.‘ A3

S(llde -
—2UEn{: 4

(i A= Ll U (Adoud) (3 (version) |
— T T 202 T

“iabion 2.2 19

Scanned with CamScanner

R——



(RHTEE B e Thank You
025748
© Scienceof Transhtion2.2 o “w"“ﬁf)—ﬁaﬁ/yﬁf.__,;,‘

e Coanh oy (ADs) Sl 138 (3 OS5 i g (VEISion) i (literally)
| el T Al S Tl gy
What about (heavily mutated)?
Student: s> Y
Ins{ructor: yes, iis.
_ Heavily mutated: 155> A
Student: . o
s any g Us)sS w0 g YT A g oy oy

sagaai 5 O} - T
il o 3 58 ¢ sl ol el BN 232 8 saly ) oY am o Cas L sia (43 40
Bk,

Instructor: thank you. ,
.(o;.)Seﬂﬂi) s (Ou&..w;i) Jgii o Lle o)

Student:

f(d e &) o (identified) p 5% o (Ka

[nstructor: no, we can’t.
(b lS ALl o3 e ek s ol of 5 s gaial O (oana)) 52 daally Jind
(m DY o3emy ) Wil (U3) o 6 il s

Student:

230) On Yo (3855 (6 33m (lbuaall GalSY 222 g4 2 2 5) Jsii of oS e

(e
[nstructor: no, we can't.
sall b iy 8 e e SIS sl O sba |pnsnal agil 5o Lol 2SN ol 3 il
Uy sSs (0 sibea 0 UA‘-ijW‘ saey oS0 i pe 3135 32 5 ((multiple times) s WSy
LE,}A’JLJ u_,JLu:\g UxL\“ CJ;A‘ EJJ.).:J‘ Al D 9> 33 ‘Ui $h &JM-’A” L_‘_S ;u.u.‘b c'S_)AOA _).\Si
o8 e s liay il 44 sl ay JLSEEN) ot 68 20 0 Al
- Version:
- ldentified: 2=)
- Surge: 84
We can say,

Iy

50 J9Y GasSaagl sy OV i LgysS (g nldd Fges 2SI A 9o 0905299
oSy iy pa St ULl sae B 5oy Wl Jmad 1 Linstl 032 =

e e . A

Student: f(e33n3 25) - (3ua 3) Al Jasins o oSy o
Instructor: no, we can’t.
«(it was first located) Jst WSy ol (50 J3Y s2ua) &) ul g (o)) oy
(303) s ony i g i Ly o o D35
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